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1. If alveolar ventilation is 4200 mL/min, respiratory frequency is 12 breaths per minute , and tidal
volume is 500 mL. what is the anatomical-dead-space ventilation?

(A) 1800 mL/min

(B) 6000 mL/min

(C) 350 mL/min

(D) 1200 mL/min

2.Which of the following is a component of the renal response to metabolic acidosis?
(A) reabsorption of H

(B) secretion of HCO3" into the tubular lumen

(C) secretion of ammonium into the tubular lumen

(D) secretion of glutamine into the interstitial fluid

3. Which of the following will not lead to a diuresis?
(A) excessive sweating

(B) central diabetes insipidus

(C) nephrogenic diabetes insipidus

(D) excessive water intake

4 Untreated type 1 diabetes mellitus is characterized by

(A) decreased sensitivity of adipose and skeletal muscle cells to insulin.
(B) higher-than-normal plasma insulin concentration.

(C) loss of body fluid due to increased urine production

(D) age-dependent onset (only occurs in adults).

5. Which is not a function of insulin?

(A) to stimulate amino acid transport across cell membranes
(B) to inhibit hepatic glucose output

(C) to inhibit glucagon secretion

(D) to stimulate lipolysis in adipocytes.

6. Hematocrit is increased

(A) when a person has a vitamin B12 deficiency

(B) by an increase in secretion of erythropoietin

(C) when the number of white blood cells is increased.
(D) by a hemorrhage
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7. Which is not a symptom of Cushing's disease?
(A) high blood pressure
(B) bone loss
(C) suppressed immune function
(D) goiter

8. Inhibition of which enzyme/enzymes would inhibit the conversion of arachidonic acid to
leukotrienes?

(A) cyclooxygenase

(B) adenylyl cyclase

(C) lipoxygenase

(D) phospholipase A2

9. Which of the following can be used to synthesize glucose by gluconeogenesis in the liver?
(A) fatty acid

(B) triglyceride

(C) glycerol

(D) glycogen

10. Which of the following is an opsonin?
(A) IL-2

(B) C1 protein

(C) C3b protein

(D) C-reactive protein
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1. List the four causes of hypoxic hypoxia. (8 %-)

2. Please list the body's major buffer system. (6 )

3. What two hormones alter the basal metabolic rate? (4 %)
4. List three ways in which clotting is limited. (6 %-)

5. Please list three major classes of plasma protein. (6 4-)
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1. BFR4a sk ey =A% (Portal triad)R .45 © (A)KEH (bile duct); (B)AT #) Ak &) -4 (CYRT FIAFAK

&y Nk (D) F 24§ Ak (central v.) °

E ¢, 4 4= iy (melanocytes) i A & K 89— 7 (A)A E B (stratum corneum); (B)i% 87 & (stratum

lucidum); (C)%8 41 & (stratum granulosum); (D)#RAk & (stratum spinosum); (E)% & & (stratum

basale) °

3. BRRR & (Knee joint)/B 7 T 54T 4 M & 2 (A)i& 8 B 8 (gliding joint); (B)%: Bl & (saddle joint);
(C)/& & M # (hinge joint); (D)BR#X B & (condylar joint); (E) 3k & M & (ball-and-socket joint)
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T B 3F — BLA TR S 4 & & B ot B 1E 2 (A)#EA (buccinator m.); (B) 7 #& F AL (orbicularis
oris m.); (C)¥& & BL (zygomaticus m.); (D) £ /& # A (levator labii maxillaris m.); (E)#& AL (mentalis
m.) °

F ) £& 4 6 A 44 & B 4% K 7L (transverse foramen) #9441 ? (A)SR 4 (cervical vertebra); (B)#
# (thoracic vertebra); (C)iZ# (lumbar vertebra); (D) & # (sacral vertebra) ; (E) £ 4# (caudal
vertebra) °

4% A& P9 (glottis) B B 49 BIL Y : (A)#4 3% 44 AL (posterior cricoarytenoid m.); (B)Z& F AL (cricothyroid
m.); (C) 4 38 #9 AL (lateral cricoarytenoid m.); (D)€ R & F AL (hyoepiglotticus m.); (E) 5 =L
(vocalis m.) °

b 43 18 e s (glial cell) ¥+ 4T B A HEAREZ A 7 (AP 4= i (microglia); (B) F it R
% i, (oligodendrocyte); (C) £ 7 B 4= i (astrocyte); (D) ¥ & B 4= fg, (ependymal cell) ; ()i 2 4m
B, (satellite cell) °

#% %) Bk (splenic artery) & & F 5| & 8 A4 2 X MR 7 (A X $) Ak (abdominal arota); (B) &
JE & Ak # (celiac trunk); (C)AT 48§y Ak (common hepatic a.); (D)L B % B 8 8k (superior
mesenteric a.); (E) F 5% % £ £/ 8k (inferior mesenteric a.) °

Fi %% 7% (cerebrospinal fluid) R -4 #F 5 #F — & 3% ? (A)al 5% £ (lateral ventricle); (B)EEBE T
#= (subdural space); (C)%k 48 5 T #% (subarachnoid space); (D) #-#& ¥ # & (central canal of spinal
cord); (E)/J» B% 2& A% 7t (cerebellomedullary cistern) e

T AT — A SRS T E B F R A ek K 7 (A)Z A4 (trigeminal n.); (B)EA & A

4 (facial n.); (C)& “B#¥ 4& (glossopharyngeal n.); (D) A& 4¥ & (vagus n.); (E) & TP &
(hypoglossal n.) e
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B 3EE AL B (right ventricle)#) o & & . %
4 gy 7L A% R 4t (pupillary light reflex) &) B4 48 .4

P

~ A0 )
3T 480 & (Temporomandibular joint)s 469 BUPI & AR LE2°€ 76977 48 £ 82(12 &)
X4% s 4% A% (Diaphragm) ey & A& R 4F A ? % i@ AR 69 438 A AR 4278 )
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